CTET L1 English L2 Hindi P1

Topic:- CDP_P1_CTET

1) Concept of critical period assumes :

(1) irreversible damage in course of development.
(2) no impact of environment on development.
(3) very minimal impact of heredity on development.

(4) negative impact of rewards on course of development.
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_108_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which point of view is supported by the theorists believing in ‘Plasticity of Development’ ?

(1) Only nature determines development.
(2) Nurture influences development.
(3) Development is always continuous.

(4) Development is always discontinuous.
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_108_Q2]
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3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) ___isa primary agent/agency of socialisation for very young children.
(1) Print media
(2) Religious organisation
(3) School
(4) Immediate family
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[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_108_Q3]
1 [Option ID = 9]

2 [Option ID = 10]

. 3 [Option ID = 11]

4 [Option ID = 12]
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4) In Jean Piaget’s theory, refer to the organised systems of actions and thoughts that
allow individuals to mentally represent or think about the objects and events in their world.

(1) advance organizers
(2) codes
3)

)

(3) tools
(4) schemes
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[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_108_Q4]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]

3. 3 [Option ID = 15]
4. 4 [Option ID = 16]




5) According to Jean Piaget's theory of cognitive development, at which stage do most children
particularly face difficulty in understanding the point of view of another person ?

(1) Post-conventional
(2) Pre-operational

(3) Concrete operational
(4)

4) Formal operational
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_108_Q5]
1 [Option ID = 17]
2 [Option ID = 18]

. 3 [Option ID = 19]
4 [Option ID = 20]
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6) Lev Vygotsky suggested that cognitive development is a product of
(1) Genetic predispositions
(2) Mere observation and Imitation
(3) Social interactions
(4) Identity formation
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_108_Q6]
1 [Option ID = 21]
2 [Option ID = 22]
3 [Option ID = 23]
. 4 [Option ID = 24]
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7) Who among the following believed that 'human activities take place in cultural settings and they

cannot be understood apart from those settings’ ?
(1) Jerome Bruner

(2) David Ausubel
(3) Jean Piaget
(4) Lev Vygotsky
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[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_108_Q7]
1 [Option ID = 25]
. 2 [Option ID = 26]

3 [Option ID = 27]
. 4 [Option ID = 28]
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8) The moral reasoning of children based on 'being obedient for avoiding punishment’
characterises of the Lawrence Kohlberg's theory of moral development.

(1) Pre-conventional level

(3) Post-conventional level

)
(2) Conventional level
)
(4) Formal conventional level
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_108_Q8]
1 [Option ID = 29]
2 [Option ID = 30]

3 [Option ID = 31]
4 [Option ID = 32]
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9) Which of the following is a characteristic of constructivist teacher ?

(1) Building lessons around very abstract ideas.

(2) Posing a lot of problems to be solved independently.

(3) Assessing learning based on mid-term exams.

(4) Conducting activities that challenge students’ assumptions.
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[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_108_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Which of the following intelligence type is nof proposed by Howard Gardner in his theory of
multiple intelligences ?

(1) Naturalistic intelligence

(2) Spatial intelligence

(3) Comprehension intelligence
(4)

4) Interpersonal intelligence
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[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_108_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]
11) Assertion (A) .

When a student is not able to solve a problem initially, he/she should be encouraged to think
aloud.

Reason (R) :

Verbalisation and thinking aloud help in organisation of thoughts and hence finding the solution
of given problem.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R} is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_108_Q11]

1. 1 [Option ID = 41]

2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) In order to address gender stereotypes in the classroom, it is important to

(1) make cross-gender interactions restricted.

(2) avoid discussions around gender discrimination.
(3) present examples that challenge those sterotypes.
(4) practise gender bias through everyday practices.
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[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_108_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]




13) As a teacher which of the following step would you consider to meet individual differences in
your classroom ?

[.  Mix-ability grouping

ll. Enrichment of curriculum

lll. Adopting child-centered methods of teaching
IV. Labelling of students

(1) (1), (11) only

(2) (1), (1) and (I11) only
(3) (1), (1) and (IV) only
(4) (I1) and (V) only
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_108_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]

3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) To promote critical thinking among students, it is important to
(1) avoid discussion and debate in classroom.
(2) provide reflection time to students.
(3) emphasise on rote memorisation.

(4) avoid assigning collaborative work to students.
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_108_Q14]



1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) ‘Assessment for learning’ should be :

(1) exam-centric

(2) norm-referenced
(3) formative

(4) standardised
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[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_108_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]

3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) In a class comprising students from different ethnic groups, it is important to

(1) divide students in groups of same ethnic identity.
(2) facilitate discussions which yield to acceptance and respect for diversity.
(3) teach using a standardised curriculum based on dominant culture.

(4) avoid paying any attention to individual differences among students.
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[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_108_Q16]

. 1 [Option ID = 61]

. 2 [Option ID = 62]

1
2
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]



17) Your schoal is modifying its infrastructure by removing physical barriers posed by stairs,
doorways and other architectural aspects imperative to accessing facilities in the school. By
doing so, what is being fostered by your school ?

(1) Mainstreaming
(2) Exclusion
(3) Integration

(4) Inclusion
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_108_Q17]

1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) To accommodate students with low vision, a teacher should avoid :

(1) giving visually cluttered notes
(2) providing magnifying glass
(3) giving large font text books

(4) providing tactile maps and diagrams
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[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_108_Q18]

1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3.

4. 4 [Option ID = 72]

3 [Option ID = 71]



19) Which of the following statement is nof correct in context of students having Attention Deficit
Hyperactivity Disorder (ADHD) ?

(1) They often face difficulties in staying focussed for long on a task.
(2) They often fidget with objects and appear restless.

(3) They often get easily distracted whilst on task.
)

(4) They have long and sustained attention span.
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_108_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) In a school, a child having giftedness has been made to skip a few grades and has been

directly moved to a higher grade. Which approach to teaching gifted students is being used by
your school ?

(1) Acceleration

(2) Enrichment

(3) Encouragement
(4) Synthesis
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_108_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]



21) For meaningful learning, it is important to create a classroom culture where students get ample
opportunities to

(1) compete with each other

(2) construct knowledge

(3) rote memorise the facts
)

(4) listen passively
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[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_108_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) Students should be facilitated to be
(1) independent thinkers

(2) dependent learners
(3) passive imitators

(4) high competitors
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[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_108_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]



23) Assertion (A):
From early age itself, our brain is good at learning content related to real world contexts.
Reason (R) :
School should emphasize on abstract content and textbook learning in primary grades.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false
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[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_108_Q23]

1. 1 [Option ID = 89]

2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Learning is more effective when :
(1) content is highly complex.
(2) teacher’s pedagogy is behaviouristic.
(3) learning goals are exam-centric.

(4) it is experiential in nature.

ATERT ST WHTAATAT 2T 2, 54

(1) FBaTa=g i stz 2 |
(2) AT T foreree =ageTea 2f |
(3) ATERTH 73T THAT-H (R4 2l |

(4) ATERTH T =TT TARTAE 2T |

[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_108_Q24]
1. 1 [Option ID = 93]



2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) Reena is referring to similar kind of problems to find the solution for a given problem. She is
employing the problem-solving strategy referred as

(1
(2
(3
(4

hypothesis-testing
analogical thinking

functional fixedness

o e i

mnemonics
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[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_108_Q25]
1 [Option ID = 97]

2 [Option ID = 98]

3 [Option ID = 99]

4 [Option ID = 100]
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26) Assertion (A) :

A teacher should avoid paying any attention to the errors made by students.
Reason (R) :

Errors have no significance in the process of learning.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false



a7 (A) :
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[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_108_Q26]

1. 1 [Option ID = 101]

2. 2 [Option ID = 102]

3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) School should :
(1) ignore emotional state of students and focus on reproduction of already learnt knowledge.
(2) ignore social context of students and focus on reproduction of already learnt knowledge.
(3) consider social context of students and ignore the construction of new knowledge.

(4) consider emotional state of students and focus on construction of new knowledge.
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[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_108_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]



28) Students with ‘Learned Helplessness’ hold a view of ability wherein ability can not be improved
by trying hard. What is this view of ability called ?

(1) Entity view
(2) Incremental view

3) Mastery-oriented view
)

(
(4) Learning optimist view
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[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_108_Q28]
1 [Option ID = 109]
2 [Option ID = 110]

3 [Option ID = 111]
4 [Option ID = 112]
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29) To create a conducive culture for learning, it is important to :

(1) ignore students’ interests.

(2) foster communication among different stakeholders such as parents, teachers and
students.

(3) employ very rigid and authoritarian teachers.

(4) implement standardised curriculum for teaching.
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[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_108_Q29]
. 1 [Option ID = 113]
. 2 [Option ID = 114]

1
2

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]




30) Which of the following factor does not contribute to effective and meaningful learning for
students ?

(1) Child-centered pedagogy

)
(2) Universal design for learning
3) Standardised curriculum

)

(
(4) Constructivist approach of teaching

7T § & F9-A7 Frew Tt F vargenst @7 a@ o SEeE § q9gqm g
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[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_108_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET

1) If sum of 2-027 and 4:450 is subtracted from the sum of 4-:004 and 6-121, then obtained result
will be

T2 4-004 3T 6:121 F TRTHA § T 2-:027 AT 4-450 F TWRTHA Fl F2147T A7,
T e FHOTH g

(1) 3-801

(2) 3-648

(3) 3-441

(4) 4-044

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]



2) In a four-digit number 3465, digits at first and fourth places are interchanged and the digits at
second and third places are also interchanged to get a new number. What is the sum of new

and old numbers ?
(1) 8928
(2)7110
(3) 9999
(4)9108

=TT T T UF H=AT 3465 |, Uger AT =TT TATAT F FH0 AT ATH H TFAT TAT
FAT TAL AT AT TATAT F A1 DT G AT F FZAT TAT | TH T TF T2 AT
T g% | 7% o7 YR SEATet FT TTFT F4T 2T 2

(1) 8928
(2) 7110
(3) 9999
(4)9108

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) How many number of zeroes are there in the product of numbers 25, 34, 22, 15 and 30 ?
(1)2
(2)3
(3)1
(4)4

HTET 25, 34, 22, 15 v 30 & UEE § T 9T 29T 2

(2
(2)3
(3) 1
(4)4

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]



4) During recess, Radha’s 4 friends observed that she has not brought any chapatis. So three of
her friends gave her one-quarter of a chapati each and the rest gave her half chapati. How
many chapatis did she get ?

(1)1%

4),2
4

FEATAFTL F FHA, 74T i 4 FqEAT F 3@ & ag w2 Foraar g 1% g |
AT ST A9 AT § T T 7 I UH-A 19T FTUTAT 17 o0 O T 7 Arefy
FTATAT IH A | THF T has T Tl 21 Te ?

(115
@)
3) 7
(4)12

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) A teacher asked her class students to add one number of single digit, one number of two digits,
one number of three digits, one number of four digits and one number of five digits. She further
told them that they have to use only digit 1 in the above numbers.

Expected result is :

(1) 21342

(2) 12345
(3)41235
(4) 12354



TF FEATIIHT 7 AIAT FEAT & HA=ATIIAT F1 TF dF 50 TFH GAT, I AFT ol TH
STEH & o0 FgT | 39 Irg Ag AT Fgr & U 9t § F e §F 1 F71 af
AN FZAT 2 |

FUTT 3L E

(1) 21342

(2) 12345

(3)41235

(4) 12354

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) The numbers written in decreasing order are :
(1)443, 434, 424, 419, 408, 401
(2)443, 434, 419, 424, 401, 408
(3)401, 408, 419, 424, 434, 443
(4)434, 419, 424, 443, 408, 401

HEd g wF | et qen g

(1)443, 434, 424, 419, 408, 401
(2)443, 434, 419, 424, 401, 408
(3)401, 408, 419, 424, 434, 443
(4) 434, 419, 424, 443, 408, 401

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) How many number of line/lines of symmetry is/are there in a rectangle ?
(1)4
(2)3
(3)2
(41



e AT P A T 27 2

(1)4
(2)3
(3)2
(41

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q37]

1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) The perimeter of one face of a cube is 40 cm. What is the sum of lengths of all its edges (in

cm) ?

T I & TF Fersh w1 TCATT 40 cm g | 29 9T A i dardi F71 anrhe
(cm ®) =T g 2
(1) 120
(2) 60
(3)480
(4) 240
[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]

3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

) Value of 3% right-angles is equal to

(1) 270°
(2) 300°
(3)310°
(4) 330°



35 TN T qIF T7747 5

(1) 270°
(2) 300°
(3) 310-
(4) 330"

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) Rahul purchased three liquid detergent cans of 25 L capacity each and transferred the
contents into 750 mL sized bottles. How many such bottles will he be able to fill ?

g 7 25 L gt aver #1737 feesiz ¥ B=r =iz &ftT o 9314 #1 750 mL
HTT ATAT ATq1 | T (0T | Jg 29 Ut fShaa ! arqert & 9 q96q1 g ?
(1) 33
(2) 80
(3) 100
(4) 110

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q40]
1 [Option ID = 157]
2 [Option ID = 158]
3 [Option ID = 159]
4 [Option ID = 160]

A w N =

11) A carpenter has to cut a 12 m long plank into 10 equal sections. If it takes 2 minutes 15
seconds per cut, then how long will it take for him to get 10 equal pieces of the plank ?

(1
(2
(3
(4

18 minutes 45 seconds
20 minutes 15 seconds

20 minutes 5 seconds

e =

19 minutes 35 seconds



TF AET A 12 m & UF Fig A0 10 208 G000 & F7eAr g | AF 0F T Fled ®
o1 2 92 15 F%0e FT G097 @941 €, A7 39 Tg & 10 THIT ZHel ol I0e Fieel
F forT AT a9 7aE 2

(1) 18 fi== 45 F=ve
(2) 20 == 15 f=ve
(3) 20 fimz 5 T
(4) 19 Tz 35 TFve

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) A fruit-seller was selling fruits as per rate list given below :

Fruit Rate

Mango 7 100 per kg
Orange 7 160 per kg
Coconut % 40 per piece
Apple Z 250 per kg

Zain purchased 2 kg of mangoes, 500 g of oranges, 500 g of apples and 2 coconuts. How
much money (in %) will he have to pay ?

(1)485

(2) 385
(3) 550
(4)430



LLiE 7 P ot W e e B e > B L B B o

i iR

Sie 100 ¥ kg
AT Z 160 I kg
RO 340 FTTF
CE] % 250 ¥ kg

9 7 2 kg 9, 500 g #AL, 500 g T AT 2 ATCTT FIF | I AT w0 I
= ?

(1) 485
(2) 385
(3) 550
(4) 430

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) The missing numbers in the pattern 21, 41, 31, 51, 41, 61, ; , are respectively

(161, 71
(2) 51, 61
(3)61, 81
()51, 71

tzw 21, 41, 31, 51, 41, 61, , H oA AT T

(1) 61, 71
(2) 51, 61
(3)61, 81
(4)51, 71

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]




14) Roopak sowed some seeds in his garden and recorded the development of these seeds into
form of plants according to the number of days as shown in the following chart :

Number of days Length of plant (in cm)
0 0
3 14
6 >3
9 95
12 10-3
15 10-9

During which three days duration, were growth of the plants maixmum and minimum
respectively ?

(1)3-6,9-12
(2)6-9,0-3
(3)3-6,6-9
(4)6-9,12-15

B0 F Fg AT FH AT 0= F F0AT AT ZH &A1 | G Fw o = i R
T AT & AGATE (MeATrad J1e § 970 JAT1e [Tl a7 :

Ret#r ez | a & aarE om )
0 0
3 1-4
6 93
9 95
12 10-3
15 10-9

e ot 3T o ararferegt o, dve it dare 7 AiE wHern atteray o oAy o

?

(1)3-6,9-12
(2)6-9,0-3
(3)3-6,6-9

(4)6-9,12-15

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) Value of 101-01 » 0-001 is
(1)0-01011
(2) 1-0101
(3)0-10101
(4) 0-11001

101-01x 0-001 FTHA Z

(1) 0-01011
(2)1-0101

(3)0-10101
(4) 0-11001

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET

1) A teacher has given some objects to class | children and asked them to identify which objects
roll and which objects slide. Which of the following is not an objective of the above activity ?
(1) To classify the objects into two groups
(2)
3)
)

4) To maintain the discipline in class by engaging children in an activity

To make them understand the concept of rolling and sliding

To discuss about the properties of various 3-D shapes

—

e 9T AT | 3 F=A1 A T A0 <0 A T -7 aw g G o
FAA-HT Fequ 7T | et § & wm-an grl afafafa 1 gz 7@t 2

(1) F=qAT FT =T THET T AT FAT
(2) 72 TEHA (TATT) 3T T (FATSTST) T ATHTION T THATAT
(3) TS B (3-D) Arfa=t Ui & ¢ H F=7 FHeAT
(4) Tt AT TE & a=A1 &1 Hod T@a? HAT § AT T TGT]
[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]

3. 3 [Option ID = 183]
4. 4 [Option ID = 184]




2) “Learning without Burden”, for the first time, received some attention in

(1) Kothari Commission (1964-1966)
(2) National Policy on Education (1986)
(3) Yashpal Committee (1993)

(4) Right to Education Act (2009)

(1) FETE FHT9T (1964-1966)

(2) Tt fore At (1986)

(3) TreraTer \WEATT (1993)

(4) Torer =1 srfer=wTe Afafagw (2009)

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

3) What is the relevance of including tessellation as an activity in primary class mathematics ?
(1) It entertains and engages learners when the teacher is busy doing his/her work
(2) It is helpful for building the base for higher level computational skills in mathematics

(3) It helps the learners develop idea about ratio and proportion

(4) It helps the learners understand the concept of area of plane surfaces

TTATHE FEAT & O | 215 Ged/ZTe T (Sxiererd) T Tiafaier w1 onfaa w7

T F T ATH Har g 2

(1) T F=A1 T AAST F2qT g A7 =g 7aar g e (27er/ffarsr so=n 4
AT S

(2) 3== T IO § uiae $f TEIAT & A § 752 A1 g

(3) 7 AfEmHFATAl FT ATIT TA HHAE % A=11 F1 Aw0T 7279 § 732

(4) TE ATIRHFATS § AH7dd TS F AFAFA #1 ATATOT FT THAT F J7%

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]



4) According to Van Hiele's levels of geometric thinking, at which level will students be able to

identify squares as regular quadrilaterals ?

(1) Visualization

)
(2) Analysis
3) Informal Deduction
)

(
(4) Formal Deduction

AT T F SHATHAT =aq & ¥97 * sare, = G e uw 3wt &0 faEg
TqIS F =9 | TgAWT °§ G499 gy ?

(1) Feadr=hem

(2) oo

(3) FATTATH S A8
(4) ArF=TF T

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q49]

1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) Which of the following is most emphasized upon in primary stage mathematics curriculum ?
(1) Formal prablem solving
(2) Nurturing curiosity
(3) Oral learning
(4) Product oriented learning

Trforfes ¥ & g oz arrfas e & e aea=a § g9 gfgs 99 &G
TATE ?

(1) ST AHEAT THTATT 97

(2) fSr=tmaT & 9o 97

(3) Hifa= @fens 77

(4) ToIT= AT Ffermy 7=
[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q50]

1 [Option ID = 197]
2 [Option ID = 198]

. 3 [Option ID = 199]
. 4 [Option ID = 200]

A W N -



6) A person wants to become a good mathematics teacher. To be a good mathematics teacher
he/she must have

(1) Ability to solve the problems in less time
(2

(
(

Good knowledge of number system, algebra and geometry

3) Conceptual knowledge and ability to relate the content of mathematics with real life
4) Knowledge of only facts and formulae of mathematics

= Bk M0 7 I9H {9081 Fa1 =181 g | U IwH M forer aa+ % foro
(1) @& THT F THEATAT T A F3F 1 AHAT

(2) #EAr ag i, A TE ST A= A

(3) ATITOMTHF FTH TA Aa1d FUaaeg F1 areaita® siaq T Sieq il

AHAT

(4) =T TOTE 6 TAT AT AT T S0

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

7) Which of the following statements are true for algorithms ?

A

B.
C.
D

Algorithms have been developed very recently after the development of computers.
It comprises of a step by step set of instructions in logical order.
When we use algorithms, we can break the problems into smaller steps.

It is an infinite sequence of rigorous instructions, typically used to solve a class of
specific problems.

Choose the correct option :

1) AandB

3)A,BandD
4)B,CandD

(
(2)BandC
(
(



Aeaferfad Fadi § T F19-9 F49 Faqa-a7g F oo agr g 2

A. FAT-TATE T 21 21 H Fraewl & (=5 & a1 &g Har = g |

B. =THH AT %9 & =9l % =90 3% 990 § GH==7 THI== 2 |

C. W ZH FeAq-TATE T ITANT F7d g, 79 g9 THEATAT il Gle-gie A0
HAE aFhd2 |

D. =g TgA A=er F1 A9 AqHT 2, 51 53 =9 F [FAfee a7enad % vF
T FEA FOA 5 (70 ITAN F AT FrAT 8 |

el faseT F7 937 Hie

()A#TB

(2)B#TC

(3)A, B3 D

(4)B,C#¥D
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

8) Which of the following factors does nof contribute in developing mathematics fear among
students ?
(1) Examination system
(2
(3
(4) Focus on standard procedures

Abstract nature of mathematics

)
)
) Gender specific abilities
)

fAeafafaa & & Fe-a71 g6 =gt § 70 F 97 F T@ F TEEE agr
Al ?

(1) TEvAT SOTTAT (FrrET)

(2) TTioTe =1 9 =

(3) e HadT AT gHar

(4) T ATHITA 9% T
[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]

3. 3 [Option ID = 211]
4. 4 [Option ID = 212]



9) According to NIPUN Bharat document, which of the following are important mathematical skills
for children at foundational stage ?

A. Observation
Reasoning
Visuzalisation
Communication
Abstraction

moOGOo®D

(WA, BandE
(2)A,B,Cand D
(3)D and E
(4)BandE

NIPUN 973 514 = AqA, AT 57 U2 &=41 % (o0 Heateag § 9
FIA-H AL AT F 19T ATFITT 2 2

-

A.  FFAHA

B. @%

C. 3FwirHIm
D. #Emm

E. & e
(1)A,B#HTE
(2)A, B, C#™D
(3)DHTE
(4)BHTE

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) Subitization is an important aspect of development of number sense. Subitization means

(1) Counting the objects in a given set to find the total number of objects
(2
(3
(

4) Making different groups of objects based on similar characteristics

Skip counting

)
)
) Identifying the number of objects in a set simply by quickly locking at them
)



FeT A & A % o afeezesad us agea T 98 (T9) 2 | AiEeeaed
FTATZ |

(1) FEGAT FT T FHEAT AT FA % (0 B0 M0 FH==F § T A1 F1 {797
(2) Foera e (BT fmd)
(3) FTHT: of 5T | ThT U A =4 H A=Al T HEAT F1q FLAT
(4) FEg AT T TRe-Serd T FaraaTat F s 97 fhe=-fHe #5g a9mT
[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q55]
1 [Option ID = 217]
2 [Option ID = 218]

3 [Option ID = 219]
4 [Option ID = 220]

A W N -

11) Which of the following is not an objective of project work in mathematics ?

(1) To engage children meaningfully in group work
(2) To assess children’s understanding about the concept
(3) To make children utilize their free time at home

(4) To understand the real-life application of a concept

fReaferfara & & im-ar afora & afrs=r S0 1 9297 7@ ¢ ?

(1) ==1 FT FAT00 = T A0 eF F4 § Sond T@nr

(2) F=AT FT ATLTTOMHT THT FT ATFAT

(3) T==T FT =¥ T¥ IHF GTeAl THT FT ITANT FHT

(4) AFLTTOT = ATEA T S FT ATTIRT THAAT
[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q56]
1 [Option ID = 221]
2 [Option ID = 222]

3 [Option ID = 223]
4 [Option ID = 224]

AN wnN -

12) At primary stage, a lot of emphasis should be given to pattern recognition and prediction,
becasue

(1) such exercises promote reasoning skills in mathematics
(2) it helps in engaging students in creative art
(3) it prepares children for competitive exams
(4)

4) patterns are easy to learn



TTATHF W7 9T, WAEY U= U W@EAW 97 @ e G e =Jign,
ENED
(1) T ST WO | A= F190e 7 G Tigd Fd 8
(2) F=AT T G4 Fell | =457 79 2
(3) TE T=AT HI TTATNTTHF THATHA & 17 977 F°9 &
(4) wfa=qt 1 Hr=ar a9 g
[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q57]
. 1 [Option ID = 225]
. 2 [Option ID = 226]

1
2
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) Which of the following is nottrue about mathematical thinking and computational thinking ?

(1) Computational thinking is limited to solving problems in mathematics with mathematical
componenis

(2) Both are problem-solving methodologies
(3) Both methods involve processes such as decomposition and algorithm design

(4) Mathematical thinking and computational thinking may help in handling abstraction

eforfea 8 & Fi9-ar Tt &a 6w afvwad e (FFeeaaa) Hae s e
¥ Ae dgle ?
(1) ATHFAA (FFAeTe) T=Ha= T T2l F J1 T § G741 7 g
(2) AT AHAT-HHTAT & T406 3
(3) =t FATET | streee T ueiiieen fewres ST giwand oJf anfder g
(4) srivreer e o aftsad (Freeaaa) Hag aqd B{=w 5 9 59
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q58]
- 1 [Option ID = 229]
. 2 [Option ID = 230]

1
2
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) Which of the following assessment method is used by a mathematics teacher to assess
learning progress during instruction ?
(1
(2
(3
(4

Placement Assessment
Formative Assessment

Summative Assessment

EIT i St S L

Diagnostic Assessment



e % S AT HT WA F A = o qive forer g Metoiaa 9§ |
e e At =1 ST ST ST g 2

(1) =THHE AT
(2) THATHF ATRAT
(3) TTTHF ATFeAA
(4) RETATeTF e

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q59]
1 [Option ID = 233]
2 [Option ID = 234]
3 [Option ID = 235]
4 [Option ID = 236]

A wWw N -

s 3 2 —
15) When asked to add two fractions 72 and &, many of the class V students solved it in the

following way :
3,2_5

275" 9

As a mathematics teacher, how will you support the students to rectify the error ?

(1) Giving the students a worksheet with similar prablems to practice

(2) Asking the students to copy the answer from their peers who have solved the problem
correctly

(3) Representing the fractions using circular paper cut-outs and explaining how to add them

(4) Explaining the algorithm to solve the problem once again on blackboard and asking the
students to copy it

Srer AT V F Rt & & faet o £ Fr Srew F Ry wgr v, 99w

FEranfaat 7 g ReafarfeEs g% & sieT -
42,5
aT5° 9

Afe qere * form, wioT F oF fonrs % =7 F d St e e

THAT FT ?

(1) THTT FHETA T TF HETHE ASATCAAT D0 ACTH 5 o0 2967

(2) FA=TTEAT &7 STOd I AEATSAT | ITL THaT Hed 5 (00 &g 7, foregia 29
T FT Hel I RATE

(3) =T &1 FWTH F FATHT Fe-AGE T I F7 Ag AHATT 6 g o9
SIET ST

(4) SATHIZ 9T T T ZA Foed Nl Ford-1arer H QT THAT F7 FRigar v
I qF FOA & fory FgAr

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_108_Q60]

1 [Option ID = 237]

2 [Option ID = 238]

. 3 [Option ID = 239]
. 4 [Option ID = 240]

A w N -



Topic:- EVS_Q61-75_P1_CTET

1) Solve the following riddle :
"Koohu-koohu is my sound
Everywhere | am found
My sweet voice give me fame
Just tell what is my name”
The solution is :

(1) Mynah

(2) Parrot

(3) Dove
(4) Koel

wr= =T AT TZAT T ZA IO
HYT-HET F I FATAT,
Ha+ 79 1§ § AT,

(1) 8T
(2) FraT
(3) FrEaT
(4) Frre

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_108_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]
2) With the increase in poaching of deers in the following food chain :
Grass— Deer— Tiger
what will happen to the food chain after a few years ?
(1) Grass will start to decrease
(2) Tigers will increase their population
(3) Population of tigers will decrease

(4) Tigers will change their feeding habit



Tt arer gt 7 220 F gaias {9+ & 97
T BT a1
T UL ITF GT GFAT TT FIT THF T 2

(1) =T 4 EIAT 47 BT S

(2) ATET Y HEAT A ST

(3) ATHT T AT TE T

(4) I AT AT AT ATIAT AT TZAT

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_108_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) The AQ)I of Delhi in December 2020 was 331. AQI denotes which of the following ?

(1) Air Quantity Index
(2) Air Quantum Index
(3) Air Quality Index
(4) Air Quadratic Index

EH=av 2020 7 &l #1 AQI 331 97 | Featatag § 7 AQl &FF Hivga F7ar
g ?

(1) I HTAT FLFHTF

(2) AT THTAT TAFTE

(3) AT ITEAT THFTF

(4) T TE=TeT =TT

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_108_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) Which of the following belongs to mammal family 7

(1) Whales
(2) Frogs
(3) Pigeons
(4) Lizards



feaferfera § & #9 |7 Al 9 w1 g ?

(1) =
(2)3(3%

(3) FLAT
(4) FRgaett

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_108_Q64]
1 [Option ID = 253]
2 [Option ID = 254]
3 [Option ID = 255]
4 [Option ID = 256]

A wnN =

5) The practice of 'Langar’ connotes
(1) Mid-day meal
(2) Free community kitchen
(3) Congregated offering
(4) Sacred food

TR T TAT Hahd HLAl g

(1) TEATET ATaTe
(2) T FHRTT THIE
(3) THET T

(4) af=s= qrere

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_108_Q65]
1 [Option ID = 257]
2 [Option ID = 258]
. 3 [Option ID = 259]
. 4 [Option ID = 260]

AW N -

6) The groundwater stored between layers of hard rocks below the water table is known as :

(1) Underground water
(2) Aquifer
(3) Perched water

(4) Secret water

WIS T 5 A9 FA1C FZMEL A0 TLAl F A= AT WS H Fgd g

(1) e ST
(2) STrdaT

(3) 3:Fua &«
(4) T 5=

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_108_Q66]
1. 1 [Option ID = 261]



2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]
7) Consider the following statements about elephants :
A. The weight of a three month-old baby elephant is about 2 quintals.
B. Elephants do not rest very much. They sleep only for two to four hours.
C. An adult elephant can eat more than two quintals of leaves and twigs in 24 hours.
D

. An elephant herd comprises members of two-three families and the oldest male is
the leader of the herd.

The correct statements are :

(1) A and B only

(2) C and D only

(3)A, BandC

(4)B,CandD

ST % &1 § J= 8w 70 syt o7 A= i

. T A1 F ZTT F =4 FT AL AT & FEq gran g |

. BT S T8 STH AR A 3 | A A &1 H FT "0 A1 ¢ |

. e FAEE ST 24 9ve F 37 fFeer |7 Afesw ai=gt o ATfeAT 91 AAT1 2
|

D. fa=ft gri¥=t % spoe § -9 9 arl & 9397 g1 214 ¢ T 394 799

T ¥ T T FT AAT 2T £ |

Hel FIT 3 :

(1) =1 AT B

(2)F=er C & D

(3)A, B & C

(4)B, C #T D

[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_108_Q67]

1. 1 [Option ID = 265]

2. 2 [Option ID = 266]

3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

o)

O W >

8) RIita pointed to a bird and said, “Look! This bird's eyes are in front of its head just like mine”.
Which bird do you think she was pointing to ?
(1) Pigeon
(2)
(3) Owl
(4) Crow

Sparrow



LTAT o e TRt AT AT T PRAT ST T, =0 | 2w wET A Al e
ATHA 2 Taepe 97 F6979 |7 arrss e =g 6 oeft 31 & gamr w7 w2 A7 2

(1) FLT<
(2) T

(3) 977
(4) T

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_108_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Loktak lake is the only place for which kind of endangered deers ?

(1) Chital
(2) Barasingha
(3) Sambar
(4) Sangai

Heerae 20 & e wTe o T Faer A i U #4719 g ?

(1) e
(2) AT

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_108_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Venus flytrap and Pitcher plant are called as insectivorous plants as they trap insects using
specialized leaves or parts of leaves. These plants derive from insects.

(1) Nutrients

(2) Air

(3) Water

(4) Soill



A werme g0 T =T e w1 fieweft 9y s smar g o 7 Al
af=r =T a7 IfET F W AT GART FE F1El wOHETT g | e F T O

T 7 ¢ |

(1) 9T T

(VAR

(3) o

(4)7=1
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_108_Q70]
. 1 [Option ID = 277]

. 2 [Option ID = 278]

1
2
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) World Water Day is being celebrated on

(1) 22" March
(2)5" June
(3)11" July
(4) 22" April

[EEEREERECLECIRIRE IS

(1) 22 579 =T
(2) 5 5 =1

(3) 11 1= T
(4) 22 @i F1

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_108_Q71]
1 [Option ID = 281]
2 [Option ID = 282]
. 3 [Option ID = 283]
. 4 [Option ID = 284]

A W N -

12) RTE Act 2009 ensures
(1) Free and compulsory education to children from birth to 6 years
(2) Free and compulsory education to children till the age of 14 years
(3) Free and compulsory education to children from 6 — 18 years

(4) Free and compulsory education to children from 6 — 14 years



RTE W=z 2009 A2 F7ar 2 :
(1) 78 & 6 99 T & T=41 il g U Afard farear
(2) 14 =9 i &0 7 % F==1 B  F UH dAAar {9
(3)6 — 18 T A F =41 &l qUd A AT7ATH foraa
(4) 6 — 14 AT TF F T=AT Hl TFT TA ATFATT 197847
[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_108_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]

3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Below are given steps of the process of growing onion crop. These steps are not in proper
sequence.

Digging to loosen the sail

Weeding

A
B
C. Cutting the dried leaves from the top of onion
D. Plucking the onion out

E

. Sowing of seeds
The correct sequence is :

(1)A,B,E,D,C
()AE,B,D,C
(3)A,B,E,C,D
(4)A,E,B,C,D

T CATH it A=A gt & =g R au g | T T #H T A5 ¢ |
A. THZET TETE FIAT

B. @¥UAATE 22T

C. TS % T T T THA4T1 FT FeAT

D. =T T SATSH7 q1g7 et

E. et e

(1)A,B,E. D, C
(2)A,E,B,D,C
(3)A,B,E.C,D
(4)A,E,B.C,D
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_108_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]



14) Birds move their head very often. This is because

(1) Muscle twitching is common in neck
(2) Eyes are fixed and cannot move

(3) It is an involuntary action

(4) To attract mate

ueft sreT e ¢ e fgema € 1 AT guien g s
(1) 7= & FIATTOAT FT FEFAT AT gIAT 5
(2) it T gy & T Ber 7t det
(3) 7E TF =g BT
(4) |AT =T SArRTE T e o
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_108_Q74]
. 1 [Option ID = 293]
. 2 [Option ID = 294]

1
2
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) Highest rainfall in India is recorded in :
(1) Cherrapuniji
(2) Agumbe
(3) Mahabaleshwar

(4) Mawsynram

13T § S=999 997 faFis i 1% :
(1) =i &
(2) o=
(3) HgTa9aT §
(4) mters |
[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_108_Q75]
. 1 [Option ID = 297]
. 2 [Option ID = 298]

1
2
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET



1) Kalyani shows experiment using globe and explains her class 5 students that part of the Earth
facing the Sun has day and the part of the Earth away from the Sun has night. Ayesha was
fascinated by this. She asked, “If we start walking and keep on moving in that direction can we
find night ? In which direction will we meet night 7" All the students laughed. What should be
the response of Kalyani ?

1) She should instruct the class to stop laughing and maintain discipline
2) She should explain that this is not possible since that part of Earth will be very far

3) She should encourage students to find out the answer to this question

(

(

(

(4) She should tell that today they will study only the occurrence of day and night and discuss
this in next class

FATIT FATHT FAT TIAAT F T=A1 01 3009 51 TEFAT F T TAN =Gl g &

HHATAT 2 T T24T % S8 90 9% S 471 AT A7 g7 2, (&7 grav g e 39 9

AT AT IS I AT 2, TT gl g | ACTT T TATAT g2 | 599 T3,

“YATT TH T BT F T F F AT Ford TF, AT FAT 2/ OO fenit 2 B

fRom & g8 w19 faerft 27 Faan % ot fE=meft 2o wr | Fwemoft $v afafwar

gl =R 2

(1) T FT T LOAT % F2 ¥ AT FATT TG F1 FIor T TR

(2) 3F Tg FHATHT AT 7 THT H9= 7t g FHi6 THAT F qg 90 qgd 37
R

(3) =H =T & =9 997 T T Greie 1 FgaT A0

(4) TF 71g Fgr =rien & arer A B s = w g S uE« e gl ==
IETAT FAT H FAAT

[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_108_Q76]
1 [Option ID = 301]
2 [Option ID = 302]
3 [Option ID = 303]
4 [Option ID = 304]

A wWN =

2) Nida is punished for coming late to school daily. Her teacher asks why she came late while her
brother comes on time. She says that her mother tells her that sweeping, mopping, looking
after household and other home-chores are the responsibility of girls. Hence, she completes all
her house-work due to which she gets late. What will you do if you are Nida's class teacher ?

(1) Tell Nida to rise early so that she can complete all her work and come school on time

(2) Talk to Nida's mother and tell her to help her come to school on time

(3) Tell Nida that looking after household and home-chores are the responsibility of all family
members

(4) Arrange a classroom discussion and ask students about whose responsibility it is to look
after household



a7 1 O =5 3T F A o e et | gwd et T e A
o AT AT g, TAH SAFT AT AT AT H AT ¢ | THA Fgl (4 AT A1 Fgal
g & 9ATg e, dier AT, 9T A 3@ AT @7 q9T 9T 6 A AT
et Hf RFEaEr grat g | AT ag AT J19T 9% FT F1H F7G (5 Ad1
TSTeeht Ao7g & TF =TT g1 STl 8 | ST A =T By sty g, A1 S i ?

(1) =1 & #:g7 & ag weal 35 {FH G707 FH it g T97 97 Bhef A7 Heh
(2) f7=T i 7T 7 =1 F0T A€ Figh 5F IH T9Y 9T T A F AT FL
(3) =T & FZW T =7 FT TFATA FIAT AT T F HH FIAT TRATT F THT

(4) FeAT | =T =7 AT %7, FRTAE § T & 97 f 339 A1 697 69
 FTH HLAT el SeaErT g

[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_108_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) In an EVS classroom, teaching aids should be :
A. easily available and from the surroundings
high definition three-dimensional movies only

always based on using one of the senses of learners

oo

always experiment based

(1) A only
(2) B only
(3)Aand C
(4)CandD

T TH A O-AEATT il FHAT |, Freqor ATt Fr F97 gav Angy ?
A. STETHT T ITsE TAT AT ATH-ITH T qToT

B. FA@ gre TR J19-ATH T Far==

C. T=F Torardf #it strsa1 4 & i U % SIF 0] 97 Atenia
D. T TAFI T7 ATATA

(1) ¥ A
(2) %37 B
(3)ATATC
(4) C FATD

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_108_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]



3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) Which of the following is the most important component of Environmental Studies in primary
classes ?

(1) Concept formation
(2) Habit formation
3) Joy of exploring

)

(
(4) Information

Feafofag § & F9-ar ITa=E F97 § TAa AEGqT F AA00% Tgeaqo
HEd g ?

OEEERIATER

(2) sr=a fAmTT

(3) FTeiey T AT

(4) =T

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_108_Q79]
. 1 [Option ID = 313]
. 2 [Option ID = 314]
3 [Option ID = 315]
4 [Option ID = 316]

A wWw N =

5) Which of the following statements are the correct explanation of an activity ?
A.  An activity is a physical, social and mental act.

B. Activity is suitable for primary classes and difficult for higher classes.
C. By activity the syllabus cannot be completed on time.

D. Activity is the process to learn from experience and helps in learning.
(1) A and B only

(2) A and C only

(3) A and D only

(4)B and C only



feaforfaa & & F9- Fg, afafate S sogs =y #7399 g ?

_ wiafAfer grataE Farar F oy I g i SET e 9 qi9F 2 |
. TTATATE ZTRT I (T 59T 77 00 A1 HA T o 9647 ¢ |

. s tAteEr srgaat & Hime F g g & diEy F 9giET gt g |
(1) %= A #% B

(2)FaT AT C

(3)FaT AT D

@) FATB#T C

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_108_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

o o0 @ F

6) Which of the following statements are correct about experimentation ?
A. Results of the experiments must be given in the textbook so that students can verify.

B. Results of the experiments must not be given in the textbook so that students
themselves can observe, enguire and generalise.

C. Results of the experiments must be provided by teachers so that students can verify.

D. Results of the experiments must not be provided by teacher since experimentation is
about observation, enquiry and generalisation.

(1) A and C only

(2) B and D only

(3)A and D only

(4) B and C only



eaforfeas § T F9-7 F07F T4 A1 T 96 g 2

A. TERT F afors qageas | R S =Jien S adt Femdt gfe
T T |

B. WAWIT % AiE0MH UT5ITeas | gl {20 &+ =gy oy FE=wdt =
FTATHA, FF-TSATA TAT ATHTHH0T FHT T |
T |

D. WA % UfomH vt g7 dAal aarT S Jiew FitE 9H,
FAA A, SATF-TSATA TAT ATHL 0T F J1¢ H 7 |

(1) =T A¥T C

(2)Fa B & D

(3)FaT AT D

(4)F=A=T B #T C
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_108_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

7) Most appropriate method for determining shapes and colours of leaves and flowers in an EVS
classroom can be

(1) providing different colourful pictures of leaves and flowers to students
(2) involving them in drawing and using their creative skills
(3) designing a task involving learners to explore plants and trees

)

(4) thoroughly repeating the concepts related to leaves and flowers

TF TAALOT-TEATT HT FHEAT § Tad1 U5 FAl & AT UA 30 H Wi w7
F1 78 IO A e
(1) gt =7 It 7F T A @ S e suesd :EE1
(2) VT F TET-TF A | HAW FAAT A7 A5 GOATHE FOOAT FT STTR
FTAT
(3) ToreaTT=rart &1 ITel UF UEi = A-A90r g 8 [ 1 i F94ET a1l
(4) af=r=t a9 Tt 7 Fafa Tedt w1 G T SAgr
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_108_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]




8) Bheem asks his gardener, "why flowers and fruits are coloured when the leaves of the plants
are green 7" Which process skills are exhibited by Bheem ?
A. Observation

B. Experiment
C. Raising questions

D. Interaction with environment

(1)A and B only
(2) B and C only
(3) C and D only
(4) A and C only

$TH AT AW 1 TIAT 8, " AT Fol T F00 g ¢, Saien Gl & 99 g2
g g 27 ftH = g7 e Wit Frerel 1 w=ioa B3har ST agr g 2

A. FTAHA

B. WA

C. WoF TIAT

D. wf¥aer & a1 S

(1) ¥=er A &< B
@)FaT B & C
(3)Fa C &7 D
@) FATAHTC

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_108_Q83]

1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3.

4. 4 [Option ID = 332]

3 [Option ID = 331]

9) In the chapter “The Plant Fairy” of EVS class 3. Didi is sitting in a garden. Shabnam said that

Didi is sitting on little plants. Taplu asked his teacher, “do we kill grass by walking and sitting on
it, like we kill ants by walking over them 7" What should the teacher do 7

(1) Discuss that grass plant can survive even if leaves are damaged

(2) Describe that the part of grass responsible for growth is safely located at base

(3) Take the students to garden, make them walk and sit on grass and see what happens

(4) Explain that grass in the garden grows back even after it is been cut



FEAT AALT T TAELOT AT & IT5 “qTel A 920 &, D=1 UF a9 § 3302 |
STee FgdT ¢ 6 ST gre-gre Tt 97 33T 8 | 2 A et F ImaT g, o
TH ATl 9T Fd g af H(edl 9% AET g, 97 FAT g °9r 7 o7 396 938 397
UL AHL A 5L HIE A1 72 & 27 1908 =1 =1 FLA7 A1y ?

(1) =T FAT IR 3 979 F 919 7y & afaued g 77 off S g s &

(2) T FEAT AT & 916 5 974 FT 98 9 &1 iz °F Ga(4d £ qg A 17

(3) FE=rTT =T 1 T3 § & 9, I2 T U A5FL 94T AAHL 39 FH Fg
FEATE

(4) =TT A AR F AR S e Fea TR i e T gt v g

[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_108_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

10) Kavish, an EVS teacher of class V, insists on teaching about concept of ‘space travel' using
creative essay writing. He is trying to :

A. deviate students from guestioning

B. encourage imagination and divergent thinking

C. promote behaviouristic approach to learning

D. avoid experimentation and activity based learning

(1) A and B only
(2) B only

(3) B and D only
{

AT, TF FAT V T TATAL- 779 {9rers, ‘@qiver TET F7 7297 987 F (o0
oA TeH Hae @@ 92 9 3q1 8 | 98 T FLIE1E

A. TTAT F T97 T T Z2W &

B. soumAteftardr q9T f9 |1= %1 ITeatiad e HT

C. Torerm = wiq =I=gries Taid T a@ET 39 H7

D. YORTAF UF I Tal 97 Srgrid forsrr F =+ &7

(1) = A 7 B
(2) ¥ B
(B)FETB T D
(@) FaT C

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_108_Q85]



1 [Option ID = 337]
2 [Option ID = 338]
3 [Option ID = 339]
4 [Option ID = 340]

A W N -

11) While presenting chapter 3 “Water O' Water”, Seema correlated the lines of poem, “when the
water breaks in flood” with the recent floods in Gujarat. Chhutki asked that why is there flood in

Gujarat and not in her city ?
Which of the following will be the most appropriate to solve this question ?

(1) Classroom discussion
(2)
(3)
(4) Visit to the flood area

Photographs
Working model

UTE 3 “UTHT ¥ T WA FE a9, 1T F FwEEr £ 9fF, v 59 9w 90
ATET 2" & O F A% q1E F FAAT FF1 A0 | el F 79y % e § T8
FAT ATE & ST THH AT F FAT AL AL E 2
Feaforiad § F F9-97 20 T 7T Aa008% 3795 2 g1 2
(1) F&T =37
(2) ==
(3) Fmefier wieer
(4) FTEUET A FT FHT
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_108_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) In the chapter "“Water O’ Water” of EVS class lil, Uncle gave Hiren and Chhutki mango panna

in steel tumblers. Chhutki asked for panna only in a glass tumbler. Uncle poured the panna in a
glass tumbler. Chhutki complained, “Uncle you have given me less panna”.

Chhutki is in which of the following stages according to Piaget’s learning theory of cognitive
development 7

(1) Sensori motor stage

(2) Preoperational stage

(3) Concrete operational stage

(4) Formal operational stage



FEAT AT F TAAC AT & T15 “TOAT < I F, sher 7 B e gt i1
TEI & T § e 1 T7 24T | Gl 7 i % [ § T T | dFer
T i o T § gere T2AT | gEsht ST, “eher o q2 FH T Rar g 1

forarer % Hra" F dsrens @FE F FgiT F aqae genl Fetatad § 1
FIA-HT ATEATH T ?

(1) Fa=T Tefty e

(2) TH-HTFATEET AT

(3) TA-HTFATHT HTEAT

(4) A= HHITeas ATET

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_108_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) For an EVS teacher at primary level, including students with individual differences is possible.
A. by giving individual home assignments
as itis an easy task

by making students work in heterogenous groups

oow

by teaching all chapters in a similar manner

(1)Aand B
(2)AandC
(3) C only
(4) A only

AT 7 97 UF TAE-AeaT fOrs 7 aates ferarst arer Fatt
T QTTH F2AT 99 2 |

A. T T 9% & T F99 =1 37

B. FIT% g TF A F1 g

C. o it B 7agt § 1 F971 7
D. & AT FT AHTA A0 o gl &7

(1)A B

(2 AT C

(3) = C

(4) F=T A
[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_108_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]



14) Shama cannot see. Her mother brings her to school daily, but she does not like coming to

school. She tells her mother that she has no friends and she also does not understand what is
being taught in the class.

Which of the following will be most appropriate for Shama’s teacher to do ?
A. Talk with Shama and explain that studying is important for her
B. Talk with students and ask them to be friends with Shama

C. Plan a play with all the students of the class, with an important role for
Shama init

D. Talk with teachers and make sure that Shama understands what is being
taught in the class

(1)B and C only

(2) A and B only

(3) C and D only

(4) A and D only

ITHT =7 gl FHAT | I WEAT IH TS BheT o6 AT g, W16 38 =0T AT
F=GT T2l @AT | A ATAT HEHT W FgAl € % SOAT Wl 06q qgl g AT IH
FAT § ST UZTAT 14T 8, 98 99§ 7g1 rar |
9THT = Torerer =71 3@+ forg [Meaforiad § & =47 A7 g9 S9gFd g1 ?
A. 9THT ¥ 19 Fh GHATY 5 36 o 92T qga T §
B. FE=nfaai & ava &7, Irg 9T § ZEdl Hed Tl Fig
C. Fe&T F T Fentaat & vy e, o= & oy ag=aaur qiHeT arer
TS ATE 1 AToAT I9T10
D. forershi F AT a9 Feh AT FL F I F1 F g@van 900 48 9617
=l THA H A0

(1) ¥ B &z C

(2) =T A 37 B

(3)F= C &= D

(4) F=e A 3T D
[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_108_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) Using textbooks as a resource in EVS teaching learning :

(1)is less effective in development of process skills
(2) provides an opportunity to include everyone

(3) promotes cooperation amongst learners

(

4)is absolutely necessary



TR % formor Afenr § S6re F = F urs-aEaE L o6 W

(1) stz wroret % &= | %9 9974t g

(2) =T FIEATOE oA T FTHC TIW a1

(3) A==t § #ga T F1 AT a1 g

(4) ot A= g
[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_108_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]

3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

' was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?' He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

The woman failed to get married because

(1) she was already thirty-seven.
(2) no young man came forward to marry her.
(3) she did not like any suitor who proposed to her.

(4) she was very foolish.
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2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

' was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?' He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

At last a young man came
(1) to meet her family.
(2) to express his willingness to court her.

(3) as he liked their house.

(4) as he did not know that the woman was foolish.
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3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

' was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?' He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

The beer was running all over the floor because

(1) the girl forgot to close the tap.
(2) the girl slipped on the stairs.
(3) the girl failed to notice the spillage.

(4) it was dark in the cellar.
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4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

' was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?' He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

The father was surprised
(1) to find his daughter crying.
(2) to find his wife beating their daughter.

(3) to see the impatience of the young man.

(4) when both his daughter and his wife failed to come upstairs.
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

‘I was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?’ He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

The expression ‘to pay court’ means :

1) to take the girl to court.

(

(2) to propose to marry a person.

(3) the father was unable to pay the court fee.
(

4) to take legal action against the girl.
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6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

' was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?' He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

When the father asked his wife the reason for not coming out, she gave reply.
(1) a similar

(2) a strange

(3) a foolish

(4) an unsatisfactory
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7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

' was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?' He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

Which one of the following words is opposite in meaning to ‘impatient’?

(1) patient
(2) modest
(3) restful
(4) balanced
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8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

' was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?' He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

The word ‘beside’ means :
(1) between

(2) away

(3) by the side of

(4) closed
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9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Once upon a time there was a woman who had reached the age of thirty-seven without ever
having had a suitor, for she was so foolish that no one wanted to marry her.

One day, however, a young man arrived to pay court to her, and her mother beaming with joy,
sent the girl down to the cellar to draw a jug of beer.

As her daughter did not come back, the mother went down to see what had become of her and
found her sitting on the stairs, her head in her hands, while by her side the beer was running all
over the floor, for she had forgotten to close the tap.

‘What are you doing?' asked the mother.

' was thinking what | shall call my first child after | am married to that young man. All the saints'
names in the calendar are already taken.’

The mother sat down on the staircase beside her daughter and said, ‘I will think about it with
you, my dear.’

The father, who had stayed upstairs with the young man, was surprised that neither his
daughter nor his wife had come back, and he in turn decided to go down to look for them.

He found them both sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was wide open.

‘What are you doing there?' He asked. ‘'The beer is running all over the cellar,

His wife replied, ‘We were thinking about what we should call the children that our daughter will
have when she marries that young man. All the names in the calendar are already taken.’
“Well," said the father, “l will think about it with the two of you". When the daughter, the mother
and the father did not come upstairs again, the suitor grew impatient waiting for them and went
down into the cellar to see what they could all be doing.

He found the three sitting on the stairs, while beside them the beer was running all over the
ground from the tap, which was still wide open.

‘What in the world are you all doing that you don'’t come upstairs and that you allow the beer to
run all over the cellar?' he asked.

‘Yes, | know the beer is flowing, my boy,’ said the father "but if you marry our daughter, what
shall you call your children? All the names in the calendar are already taken.’

When the young man heard this answer he replied, ‘Well goodbye, | am going away. When |
have found three people sillier than you, | will come back and marry your daughter.’

The word ‘court’ has been used as a/an :

(1) Noun

(2) Verb

(3) Adjective
(4) Adverb
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1) Dirsetions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
The waves are rolling
The bells are tolling
The voice of another world is calling
Anocther another another world
Is rolling tolling calling on
Forward march
Oh onward forge
Ahead ahead let's always surge.

Our blood in floods

Shall drench all roads

We leap the deep and sweep all shores
Reshaping geography amain

Remaking history again

Nor deserts nor forests nor hills nor rivers
East and West and North and South.

Symbolically the poem seems to be an address of a

(1) teacher to his students

(2) general to his soldiers

(3) singer to his audience

(4) demagogue to his fans
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2) Dirsetions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
The waves are rolling
The bells are tolling
The voice of another world is calling
Anocther another another world
Is rolling tolling calling on
Forward march
Oh onward forge
Ahead ahead let's always surge.

Our blood in floods

Shall drench all roads

We leap the deep and sweep all shores
Reshaping geography amain

Remaking history again

Nor deserts nor forests nor hills nor rivers
East and West and North and South.

In the expression ‘rolling, tolling, calling’, the figure of speech used is

(1) Assonance

(2) Metaphor

(3) Personification

(4) Parallelism
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3) Dirsctions : Read the extract given below and answer the questions that follow by selecting the
correct/ most appropriate options.
The waves are rolling
The bells are tolling
The voice of another world is calling
Another another another world
Is rolling tolling calling on
Forward march
Oh onward forge
Ahead ahead let's always surge.

Our blood in floods

Shall drench all roads

We leap the deep and sweep all shores
Reshaping geography amain

Remaking history again

Nor deserts nor forests nor hills nor rivers
East and West and North and South.

The speaker wants to create a new political order by/through :

(1) destroying the outmoded social system

(2) establishing Ram Rajya

(3) peaceful means

(4) reshaping the geographical frontiers
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4) Dirsetions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
The waves are rolling
The bells are tolling
The voice of another world is calling
Anocther another another world
Is rolling tolling calling on
Forward march
Oh onward forge
Ahead ahead let's always surge.

Our blood in floods

Shall drench all roads

We leap the deep and sweep all shores
Reshaping geography amain

Remaking history again

Nor deserts nor forests nor hills nor rivers
East and West and North and South.

The expression 'East and West and North and South’ points out to

(1) an all-pervasive social philosophy

(2) a never-ending revolution

(3) a new historical domain
(4) length and breadth
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5) Dirsetions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
The waves are rolling
The bells are tolling
The voice of another world is calling
Anocther another another world
Is rolling tolling calling on
Forward march
Oh onward forge
Ahead ahead let's always surge.

Our blood in floods

Shall drench all roads

We leap the deep and sweep all shores
Reshaping geography amain

Remaking history again

Nor deserts nor forests nor hills nor rivers
East and West and North and South.

The poem seems to suggest that

(1) the new geographical order cannot be established without enemy’s bloodshed.
(2) sacrifices are of no avail.
(3) the march forward is impossible.
(4) another world is easy to achieve.
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6) Dirsetions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
The waves are rolling
The bells are tolling
The voice of another world is calling
Anocther another another world
Is rolling tolling calling on
Forward march
Oh onward forge
Ahead ahead let's always surge.

Our blood in floods

Shall drench all roads

We leap the deep and sweep all shores
Reshaping geography amain

Remaking history again

Nor deserts nor forests nor hills nor rivers
East and West and North and South.

The expression, ‘another world’ which has been repeatedly used in this poem is

(1) Expansionism
(2) Fascism
(3) Despotism
(4) Nazism
[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q105]
1 [Option ID = 417]

2 [Option ID = 418]

3 [Option ID = 419]
4 [Option ID = 420]

AW N =

Topic:- ENG_Q106-120_L1_P1_CTET

1) The idea that language predominates thought is supported by

(1) Benjamin Whorf
(2) Piaget

(3) Vygotsky

(4) Skinner

[Question ID = 106][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q106]
1 [Option ID = 421]
2 [Option ID = 422]
3 [Option ID = 423]
4 [Option ID = 424]

A w N =



2) In Krashen's theory 'i+1’ means

(1) learners must be capable of identifying their strengths and weaknesses.

(2) language is learnt when the learners are paired with other persons.

(3) level of the material should be slightly above the learner’s current level of ability.
(

4) classwork must be practised at home.

[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q107]
1 [Option ID = 425]
2 [Option ID = 426]
3 [Option ID = 427]
4 [Option ID = 428]

AW N =

3) “Speaks with hesitation which sometimes interferes with communication” can be a rubric for
assessing

(1) pronunciation
(2) grammar

(3) fluency

(4) vocabulary

[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

4) A grade-1 teacher has labelled the objects in class. She has placed posters of stories and
poems of learners' home language on the class walls. By this the teacher is

(1) helping the child to learn English
(2) creating print rich environment
(3) decorating her class

(4) trying to show her creativity

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q109]
1 [Option ID = 433]
2 [Option ID = 434]
3 [Option ID = 435]
4 [Option ID = 436]

A w N =

5) A grade-3 teacher has to assess the speaking skill of her students. Which activity should she
not conduct for the same?

(1) Ask children to tell the meanings of the words from the text read
(2) Talking about the food they like most

(3) Asking each child to introduce himself/herself in 4 — 5 sentences
(4) Describe the picture shown to him/her in three sentences

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q110]
1 [Option ID = 437]
2 [Option ID = 438]
3 [Option ID = 439]
4 [Option ID = 440]

A WN =



6) Which of the following statements is true for language skills?

1) Listening and reading are productive skills

(

(2) Listening and speaking are receptive skills

(3) Listening is a productive skill but reading is a receptive skill
(

4) Listening is receptive but speaking is a productive skill

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q111]
1 [Option ID = 441]
2 [Option ID = 442]
3 [Option ID = 443]
4 [Option ID = 444]

A wWN =

7) In alanguage class a teacher conducts an activity in which students run to the text and then
come back to convey the content of the text to the partner. This activity is called

(1) Running text

(2) Running dictation
(3) Dumb charades
(4) Jigsaw dictation

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q112]
1 [Option ID = 445]
2 [Option ID = 446]
3 [Option ID = 447]
4 [Option ID = 448]

AW N -

8) A motor disorder that affects the coordination of tongue and lips to produce sounds is called

1) Dyspraxia

3) Dysarthria

(2) Dysphrasia
(4) Dyscalculia

[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q113]
1. 1 [Option ID = 449]

2. 2 [Option ID = 450]

3. 3 [Option ID = 451]

4. 4 [Option ID = 452]

9) NIPUN, the national initiative for achieving foundational skills, focuses on

1) Reading, speaking, writing, listening and numeracy

(

(2) Reading and writing

(3) Reading, writing and arithmetic
(

4) Reading with understanding and numeracy

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q114]
1 [Option ID = 453]
2 [Option ID = 454]
3 [Option ID = 455]
4 [Option ID = 456]

A w N =



10) is a type of language test which measures a student’s achievement concerning
a specific task which he will |ater be required to perform.

(1) Objective test
(2) Efficiency test
(3) Proficiency test
(4) Productive test

[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q115]
1 [Option ID = 457]
2 [Option ID = 458]
3 [Option ID = 459]
4 [Option ID = 460]

A WN =

11) To evaluate writing skill of learners in grade 4, the test item developed must assess whether
the learner is able to
(1) take dictation
(2) write the answers in good handwriting
(3) express ideas coherently and systematically
(4) comprehend the questions and write their answers
[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q116]
. 1 [Option ID = 461]
. 2 [Option ID = 462]

1
2
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

12) A group of people who share a set of lingustic norms regarding the use of language is called a

1) Language register

(
(2) Speech community
(3) Dialect community
(

4) Speech register

[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q117]
1 [Option ID = 465]
2 [Option ID = 466]
3 [Option ID = 467]
4 [Option ID = 468]

A w N =

13) Which writing task should be given by the teacher to enhance reading comprehension ?

(1) Giving dictation of the words that they read in the text
(2) Ask students to summarise about what they have read

(3) Ask students to memorize and write the meanings of difficult words that they came across
while reading a text

(4) Ask students to make sentences of the new words that they came across while reading the
text

[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q118]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]



14) Reading rapidly to get a general view of the material is

1) Scanning

(2) Intensive reading
(3) Skimming

(4) Meaningful reading

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q119]
1. 1 [Option ID = 473]

2. 2 [Option ID = 474]

3. 3 [Option ID = 475]

4. 4 [Option ID = 476]

15) Which of the following can be a good pre-writing strategy while process writing ?
(1) Mind mapping

(2) Reviewing

(3) Editing

(4) Revising

[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_108_ENGLISH_Q120]
1. 1 [Option ID = 477]

2. 2 [Option ID = 478]

3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

Topic:- HIN_Q121-128_L2_P1_CTET

") fREer ; fAEfcrEe TErTer #T 9T [E T TAT & AgT |99 U 397 a7
faFeT Fr FiAT |
29T THT AqATT § TAG gAT AT g, TS Aqura § At F Sag= § o &
qfE FT T9 ZAT & | Ay il TarEedT #7 qe w0 4g Tl gEeT
AT Fer Y Fepr fre s 3fE 9w vwideer w7 R 9t g7 o g
ST 24 2, A1 gF SIesg | T97T &1 T=917 F2eh of 59 gf a5 ¢ | Woas =
AT F7AT & | I JTHA FA=120 F1 7G7 | §H1E H 946 J090 A7 7 F9 215
THHT AT IA0T AG FIeT 2T AT TF q AGAT (<6 F1 B T8 HT 90 | Ted® &
&7 TF9 AT AT G T FTH T AT 2O | I JTA AR BT A —
=TT 6 AT T2 Fgl S qhel71 2 6

(1) =T =t F=F 7 AT T &

(2) == T qi*F FT TTe7 1947 g

(3) WTEA = TAT FT FHTIOT IHHT HEhid &
(4) 9T F TAEHG FT GF AT ATRY

[Question ID = 241][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q121]
1. 1 [Option ID = 961]



2. 2 [Option ID = 962]
3. 3 [Option ID = 963]
4. 4 [Option ID = 964]

2 fRder : fREfafaT Terier #1 9gH7 T T7 9T & agi 799 Jug 397 70
fAFeT 1 FAT |
T9T AT AT | TG AT F7ar g, o aqama § 7gf o e | forem o
qfE T TAT AT ¢ | GEaaq $il TaaraeqT F7 =T F20 Ig 737 F qgraw
WRTT o 97 AT FEr frmr T AT 9T wEwATer F2 oT | Af® gF O 3ed
ST ATEd 2, A1 &8 Sadg | T 7 T31% %94 af a9 gl a5 g | Weaw *
AT FIAT E | I FTHA == H TG | §O9 T 395 TR A FT AT 11 E
AT AT I A AT 31 AT T T AT g FOF F=F T AT gAwE =
T THT FT ATAT Hiw FT FH = HLAT GO0 | IA5 T AR T q—
a9 Irg ZaAl ol HgrIar ATy |
TOreAT =T AT 2 2
(1) &=To
(2) atarTen
(3) =rfrea-fA=Te
(4) FETEFATF fAFH

[Question ID = 242][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q122]
1. 1 [Option ID = 965]
2. 2 [Option ID = 966]
3. 3 [Option ID = 967]
4. 4 [Option ID = 968]




3 fRder ; fA=ferfae Terer @7 BET [ T JHT & 9g [(99H 3ugT 997 a7
faeT #ir AT |
297 THT AT F AT FAT F7AT B, ToF AquTa H At F FaqI ey 7 e e
5 FT TAT Z0@T g | GEGAT Al AAEeT w1 G F100 qg TEr & qEey
AT Fer Y Fegr fre e 3fE 9w vwiAeer w7 R 1R g7 o gea
ST T2 2, A1 F Seig | 0T &7 Y5917 &7 of 39 gl 754 ¢ | {eas =
SETT %0 ST E1 g0 Zi<hod &1 (419 0 & o1 f9ram =97 1 Ieeht AT
AT AT 2 | I qT8 == &1 @0 | 917 F 394 F190 A1 FT 59 @1 g
THHT AT I0T AG FIeT 2T AT qF q AGAT (<6 H1 B0 T8 HT @90 | Ted® &
&7 TET FT AOAT G T FTH FE FIAT 200 | A6 JTA A=FE B T A —
TR & FATE GAT 8§ — =t & A #°1
(1) forfer e

(2) FfZ =T
(3) FEr=re F=
(4) FIT ZAT

[Question ID = 243][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q123]
1. 1 [Option ID = 969]
2. 2 [Option ID = 970]
3. 3 [Option ID = 971]
4. 4 [Option ID = 972]




4 fader ; [RETfefaa T @i 9EHT 95 7 TAT # qgi 993U g7 I
fame &7 AT |
297 THT AT F AT FAT F7AT B, ToF AquTa H At F FaqI ey 7 e e
s FT T 20T 2 | AaAT Hl TFAEeIT F = F10 Ig 78T F qEraw
wrrt o Fer A FEr e o afE ov vEwiETer w7 e 1T g oo sew
ST T2 2, A1 F Seig | 0T &7 Y5917 &7 of 39 gl 754 ¢ | {eas =
TR T AT D1 gU Hi<hed =61 =018 Fee % {ore fovear <97 2 Iwehr e
AT FHTAT g | 376 TG94 (A=10 Fl 7@l | §A12 F 394 A0 A7 #0099 21 g
THHT AT I0T AG FIeT 2T AT qF q AGAT (<6 H1 B0 T8 HT @90 | Ted® &
&7 TET FT AOAT G T FTH FE FIAT 200 | A6 JTA A=FE B T A —

(1) 29 =29 T AT F7 TF

(2) 29 T 7= quA1 Hweq J9 9%

(3) BH T FT F=AFAT =T 7%

(4) A A T frferT wT 7
[Question ID = 244][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q124]
1. 1 [Option ID = 973]
2. 2 [Option ID = 974]

3. 3 [Option ID = 975]
4. 4 [Option ID = 976]



5) fader ; fA=feriae Terer #7 9BET 7 T JHT & 9g [(39E 3ugT 997 a7
Ao 1 FAT |
297 THT AT F AT FAT F7AT B, ToF AquTa H At F FaqI ey 7 e e
5 FT TAT Z0@T g | GEGAT Al AAEeT w1 G F100 qg TEr & qEey
AT Fer Y Fegr fre e 3fE 9w vwiAeer w7 R 1R g7 o gea
ST T2 2, A1 F Seig | 0T &7 Y5917 &7 of 39 gl 754 ¢ | {eas =
SETT %0 ST E1 g0 Zi<hod &1 (419 0 & o1 f9ram =97 1 Ieeht AT
AT AT 2 | I qT8 == &1 @0 | 917 F 394 F190 A1 FT 59 @1 g
THHT AT I0T AG FIeT 2T AT qF q AGAT (<6 H1 B0 T8 HT @90 | Ted® &
&7 TET FT AOAT G T FTH FE FIAT 200 | A6 JTA A=FE B T A —

=rfer i = 1 g7 FT AR
(1) forear

(2) I=

(3) FaT

(4) F=T

[Question ID = 245][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q125]
1. 1 [Option ID = 977]
2. 2 [Option ID = 978]
3. 3 [Option ID = 979]
4. 4 [Option ID = 980]



6 fader : fAEforfae T=rier it 9EFT g 7 T4 % dgl [F9E 99U gL T
Ao #r AT |
29T IHT ATIT F AT TAT F2AT1 2, ToF A0 § =2t F a2 7 {90 &
s FT T 20T 2 | AaAT Hl TFAEeIT F = F10 Ig 78T F qEraw
wrrt o Fer A FEr e o afE ov vEwiETer w7 e 1T g oo sew
ST ATEd &, 1 27 SaHg § FOeaT &7 T=17 #7% of 99 af 99d ¢ | e %
SETT %0 ST E1 g0 Zi<hod &1 (419 0 & o1 f9ram =97 1 Ieeht AT
AT FTAT 2 | I6 ATH H=10 0 TET | H97E H I =040 A FT T 212
AT AT IAHT A G Z AT TH T AIAT <6 T H0T F290 FT A | TodF B
AT THT FT ATAT G FTFT T FIAT GO | ITF A0 A= BT —
TH Irg TAN g wQrAAn AT |
(1) =t & are o o g7 1 e
(2) foveT & iz 9% 79T F1 AT
(3) Terear & g 7% T @I A1 AT
(4) =rfFat & 9T o+, i FT T fFae

[Question ID = 246][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q126]
1. 1 [Option ID = 981]
2. 2 [Option ID = 982]
3. 3 [Option ID = 983]
4. 4 [Option ID = 984]




7 fRder ; fAETefEe TErer # 9w 9 T FHT & 9gT [99H 3ugTh 997 a7
faeT #ir AT |
297 THT AT F AT FAT F7AT B, ToF AquTa H At F FaqI ey 7 e e
5 FT TAT Z0@T g | GEGAT Al AAEeT w1 G F100 qg TEr & qEey
AT Fer Y Fegr fre e 3fE 9w vwiAeer w7 R 1R g7 o gea
ST T2 2, A1 F Seig | 0T &7 Y5917 &7 of 39 gl 754 ¢ | {eas =
SETT %0 ST E1 g0 Zi<hod &1 (419 0 & o1 f9ram =97 1 Ieeht AT
AT AT 2 | I qT8 == &1 @0 | 917 F 394 F190 A1 FT 59 @1 g
THHT AT I0T AG FIeT 2T AT qF q AGAT (<6 H1 B0 T8 HT @90 | Ted® &
&7 TET FT AOAT G T FTH FE FIAT 200 | A6 JTA A=FE B T A —
A faw =g

(1) forem
(2) farfer
(3) T
(4) T

[Question ID = 247][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q127]
1. 1 [Option ID = 985]
2. 2 [Option ID = 986]
3. 3 [Option ID = 987]
4. 4 [Option ID = 988]




8 fader ; fA=TlET TETrr FT 9EET T U7 THT # AgT [FEH 3UgTh 997 a7
faeT #ir AT |
297 THT AT F AT FAT F7AT B, ToF AquTa H At F FaqI ey 7 e e
5 FT TAT Z0@T g | GEGAT Al AAEeT w1 G F100 qg TEr & qEey
AT Fer Y Fegr fre e 3fE 9w vwiAeer w7 R 1R g7 o gea
ST T2 2, A1 F Seig | 0T &7 Y5917 &7 of 39 gl 754 ¢ | {eas =
SETT %0 ST E1 g0 Zi<hod &1 (419 0 & o1 f9ram =97 1 Ieeht AT
AT AT 2 | I qT8 == &1 @0 | 917 F 394 F190 A1 FT 59 @1 g
THHT AT I0T AG FIeT 2T AT qF q AGAT (<6 H1 B0 T8 HT @90 | Ted® &
&7 TET FT AOAT G T FTH FE FIAT 200 | A6 JTA A=FE B T A —
T I8 340 2l HerEar A0 | AT H a7

(1) zai

(2) 2

(3) 37

(4) =TiRT
[Question ID = 248][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q128]
1. 1 [Option ID = 989]
2. 2 [Option ID = 990]

3. 3 [Option ID = 991]
4. 4 [Option ID = 992]

Topic:- HIN_Q129-135_L2_P1_CTET



") fREr ; AEforfae Terier # U TE T THT # dg TG U g7 a7
fameT Fr g7 |
HFAT AN 0 = UgeT AT F=F-[=1 70 T | SAT B H= AN
FAET &, TH THT FT FTAT 5 AT F5d § 9% UHT It Sirad o ST Tgedl Aredr
= AT 2T AT 2T ST 2 | AT § A T8 & e § @A g s e agn
€ ST &M g1 g7 q@-3@ | g | g0 Hear Fd I 917 781 g | T2 a1
Tt T T AT AT 391 2 | AFT HEar vE d@g7 ¥ AwhT grEEw g F
T 2rdt g, S die-efie q@al g | T TH< I 9% g9 H Sl 5 T
HEEd gl 9T g | g7 85 staays ar7 FamEr g 1 27 B § da@s |y
AT 2 | Tl T § 9e-agd-ar u, /i-AT agats 997 Taan gty
EAT g |
TR F FATE AT (0 71 | JfeF gr=-F=w agiFar g ?

(1) Terer-2q = = =79 |

(2) FEATFIA |

(3) THIATE & FA7 F

(4) T FT TEEAT AT H
[Question ID = 249][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q129]
1. 1 [Option ID = 993]
2. 2 [Option ID = 994]

3. 3 [Option ID = 995]
4. 4 [Option ID = 996]



2 fRder ; Feferfae Terisr #7 929 T T FHT F a8 (79T 3w 997 a7
fameT Fr g7 |
HFAT AN 0 = UgeT AT F=F-[=1 70 T | SAT B H= AN
FAET &, TH THT FT FTAT 5 AT F5d § 9% UHT It Sirad o ST Tgedl Aredr
= AT 2T AT 2T ST 2 | AT § A T8 & e § @A g s e agn
€ ST &M g1 g7 q@-3@ | g | g0 Hear Fd I 917 781 g | T2 a1
Tt T T AT AT 391 2 | AFT HEar vE d@g7 ¥ AwhT grEEw g F
T 2rdt g, S die-efie q@al g | T TH< I 9% g9 H Sl 5 T
HEEd gl 9T g | g7 85 staays ar7 FamEr g 1 27 B § da@s |y
AT 2 | Tl T § 9e-agd-ar u, /i-AT agats 997 Taan gty
EAT g |
Tyt Ferar v sig7 & BwiT gramEw 39 F 99 2t 8 1 R | areTd g

(1) 37 & & 7 AT g g |

(2) STITETE T T | Tg dFH20 A4 2 |
(3) | =T 79T & A7 37 g2 gral qwev g |
(4) BT T & o |g7 &5 smaeTs 2 )

[Question ID = 250][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q130]
1. 1 [Option ID = 997]

2. 2 [Option ID = 998]

3. 3 [Option ID = 999]

4. 4 [Option ID = 1000]



3) fAder ; [Feferfae Terisr #7 9297 T8 T F91 F T8t (799 39 997 7
fameT Fr g7 |
HFAT AN 0 = UgeT AT F=F-[=1 70 T | SAT B H= AN
FAET &, TH THT FT FTAT 5 AT F5d § 9% UHT It Sirad o ST Tgedl Aredr
= AT 2T AT 2T ST 2 | AT § A T8 & e § @A g s e agn
€ ST &M g1 g7 q@-3@ | g | g0 Hear Fd I 917 781 g | T2 a1
Tt T T AT AT 391 2 | AFT HEar vE d@g7 ¥ AwhT grEEw g F
T 2rdt g, S die-efie q@al g | T TH< I 9% g9 H Sl 5 T
HEEd gl 9T g | g7 85 staays ar7 FamEr g 1 27 B § da@s |y
AT 2 | Tl T § 9e-agd-ar u, /i-AT agats 997 Taan gty
EAT g |
e & & Fra-ar a1 F=ar 1 awr @ty ?
(1) eI TqE-9 | AT 347
(2) Tt =1 T AT geft 340
(3) e Teafar & S a= = | 347
(4) Toer 7 FEAT F7 33T AT3GT FTIAUHT T AT § TH7AT I 247

[Question ID = 251][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q131]

1. 1 [Option ID = 1001]

2. 2 [Option ID = 1002]

3. 3 [Option ID = 1003]
4. 4 [Option ID = 1004]




4 fAder ; fAETefea TErier #1 9EET 95 T TAT & Gg /g g9 97 T
Ao #r AT |
HHAT AN (0T T | Tg AT AiA-{=A=1E gl e | S0 T T =0 A0
AT 2, TF AT T FAT 04 A 430 § TF UHT Tredv Ssiraq J AT gl T AT
=TT &1 ArAA 21 Sl g | AT § 97 g4 A7 [Far § da7 g {7 5 agt
T ST AR {1 2Y {@-3@ § 2r | Jgr THear FAe e 7 A8 2 | g qr
qAT T T AT AT 241 g | A1 WA UF g7 A AH g grEn g F
T 2rdt g, S die-efie q@al g | T TH< I 9% g9 H Sl 5 T
HEEd gl 9T g | g7 85 staays ar7 FamEr g 1 27 B § da@s |y
AT 2 | AFr FEar § Gre-aga-ar =, /-6 "qgaets a97 Oarar qet=Ean
EAT g |
“TeT oAt A § At aget Aty F qrT gt A gv ot g |7 AT F avead
2
(1) 3T AT T 97 TFATT FA71 2 |
(2) TEHAT AT ST AT ET AT 2 |
(3) fa=T A=A g2 foear Sest a9 21 Sev g |
(4) @AtefT & AT AT F AT BT FZAE

[Question ID = 252][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q132]
1. 1 [Option ID = 1005]
2. 2 [Option ID = 1006]
3. 3 [Option ID = 1007]
4. 4 [Option ID = 1008]




5) fRder ; fA=Teriae Terer &7 BET 9 T JHT & 9g [99H 3ugTh 997 a7
fameT Fr AT |
HFAT AN 0 = UgeT AT F=F-[=1 70 T | SAT B H= AN
FAET &, TH THT FT FTAT 5 AT F5d § 9% UHT It Sirad o ST Tgedl Aredr
= AT 51 @A 21 S0 2 | A7 § 719 g4 A7 @ | da< g e /e a5
€ ST &M g1 g7 q@-3@ | g | g0 Hear Fd I 917 781 g | T2 a1
AAT FT TF AT TT=AT 341 ¢ | Agl oA v g7 | FFhg gaEw g
THT 2Tl g, 91 di-efiT Fgd7 & | T97 e IOt 996g &7 Fif T2 & T977
HEEd gl 9T g | g7 85 staays ar7 FamEr g 1 27 B § da@s |y
AT 2 | Tl T § 9e-agd-ar u, /i-AT agats 997 Taan gty
EAT g |
A 1 TarEATET ae qgTE
(1) =%
(2) ATt
(3) &fr

(4) G&=T

[Question ID = 253][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q133]
1. 1 [Option ID = 1009]
2. 2 [Option ID = 1010]
3. 3 [Option ID = 1011]
4. 4 [Option ID = 1012]




6 fader ; fA=Teriae Terer # TEET T T FHT & GgT [99H 3ugTh 997 a7
fameT Fr AT |
HFAT AN 0 = UgeT AT F=F-[=1 70 T | SAT B H= AN
FAET &, TH THT FT FTAT 5 AT F5d § 9% UHT It Sirad o ST Tgedl Aredr
= AT 51 @A 21 S0 2 | A7 § 719 g4 A7 @ | da< g e /e a5
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1. 1 [Option ID = 1013]
2. 2 [Option ID = 1014]
3. 3 [Option ID = 1015]
4. 4 [Option ID = 1016]
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[Question ID = 255][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q135]
1. 1 [Option ID = 1017]
2. 2 [Option ID = 1018]
3. 3 [Option ID = 1019]
4. 4 [Option ID = 1020]
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1. 1 [Option ID = 1021]
2. 2 [Option ID = 1022]
3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]
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1. 1 [Option ID = 1025]
2. 2 [Option ID = 1026]

3. 3 [Option ID = 1027]
4. 4 [Option ID = 1028]
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1. 1 [Option ID = 1029]

2. 2 [Option ID = 1030]

3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032]
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1. 1 [Option ID = 1033]
2. 2 [Option ID = 1034]
3. 3 [Option ID = 1035]
4. 4 [Option ID = 1036]
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[Question ID = 260][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q140]
1. 1 [Option ID = 1037]
2. 2 [Option ID = 1038]

3. 3 [Option ID = 1039]
4. 4 [Option ID = 1040]
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[Question ID = 261][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q141]
1. 1 [Option ID = 1041]
2. 2 [Option ID = 1042]

3. 3 [Option ID = 1043]
4. 4 [Option ID = 1044]
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1. 1 [Option ID = 1045]
2. 2 [Option ID = 1046]
3. 3 [Option ID = 1047]
4. 4 [Option ID = 1048]
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[Question ID = 263][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q143]
1. 1 [Option ID = 1049]
2. 2 [Option ID = 1050]

3. 3 [Option ID = 1051]
4. 4[Option ID = 1052]
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1. 1 [Option ID = 1053]

2. 2 [Option ID = 1054]

3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]
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1. 1 [Option ID = 1057]
2. 2 [Option ID = 1058]

3. 3 [Option ID = 1059]
4. 4 [Option ID = 1060]
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1. 1 [Option ID = 1061]

2. 2 [Option ID = 1062]

3. 3 [Option ID = 1063]
4. 4 [Option ID = 1064]
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[Question ID = 267][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q147]
1. 1 [Option ID = 1065]
2. 2 [Option ID = 1066]

3. 3 [Option ID = 1067]
4. 4 [Option ID = 1068]
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1. 1 [Option ID = 1069]

2. 2 [Option ID = 1070]

3. 3 [Option ID = 1071]
4. 4 [Option ID = 1072]
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2. 2 [Option ID = 1074]

3. 3 [Option ID = 1075]
4. 4 [Option ID = 1076]

15) e 27 At sreArioeET forsror sifamre afwaT & Few dud FEenfay w1 s
AT FTEAT & | TFT & Hae & o e F oS- aaias ST 06
FHM 2
(1) T3 F dvF § TFeTATeHE T
(2) W HHATE F1 T gfve o
(3) 7t 5T it 7 i A afa @Rt =1 aEerm
(4) et oreqmr & = o ST Tt = aee

1[_Q:J?;;1?::1 III; ==12()Z§)]][Question Description = CTET_P1_PART_5_L2_SET_108_HINDI_Q150]

2. 2 [Option ID = 1078]
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